Stephen Kay
University of Regina

= 08/10/19
e e —




Introduction

> Following analysis meeting, implemented some PID/4 cuts in
the script

> Didn’t have much affect, didn’t remove the “ghost bands” in
the data

> Decided to delve a little deeper into the timing

> hcana defines AdcTdc time differences via -

HodoStart Time — [Det]|AdcTime

So actually, all the “ghost” bands could all be due to a weird
hodoscope time
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HMS Hodo Start Time

H.hod.starttime
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SHMS Hodo Start Time

P.hod.starttime
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HMS vs SHMS Hodo Start Time

o Already, we can see the HMS and SHMS distributions look
very different

> Note that both have a peak off to the left at -1000 that
correspond to events where that detector did not trigger

> HMS detectors are all fine so the distribution for this is as we
might expect

Let’s take a closer look at the SHMS distribution with some
PID cut
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SHMS Hodo Start Time - Electron PID

P.hod.starttime {P.cal.etotnorm[0] > 0.7}
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SHMS Hodo Start Time - Hadron PID

P.hod.starttime {P.cal.etotnorm[0] < 0.7}

hw
Entries 523722
Mean 61.98
Std Dev 29.34
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SHMS Hodo Start Time - Electron PID, Detail

P.hod.starttime {abs(P.gtr.dp[0]) < 20 && P.cal.etotnorm[0]>0.9}

hw

[ Entries 371421
Mean 79.71
Std Dev 8.443
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Comments

> PID cuts do indeed some to have little difference on the start
time distribution, propagates through to time diff plots

One notable odd detector is the Aerogel, time difference is
defined in the same way, yet values are clearly an absolute
value

Nothing | saw in hcana indicated that this was the case, need
to investigate further

> It is likely Aerogel does also have weird behaviour

> So, what next? Include the ghost band? Go back a step?
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